




Work in pairs

Things you will need:
• A pencil

What to do:

• Use the grid method to work out the answers to these multiplications:

2 x 444 (you don’t need the grid method for this one!)

3 x 444

4 x 444

5 x 444

6 x 444

7 x 444

8 x 444

9 x 444

• You can split the work up between you.

• Add the digits of each answer.

• What do you notice?

A Bit Stuck?
Digit discovery

S-t-r-e-t-c-h:

Learning outcomes:

Now try multiplying 888 by 2, 3, 4… 9.  
What do you notice about the answers? And the sums of the digits?

• I can use the grid method to multiply 3-digit numbers by 1-digit numbers.
• I can look for patterns.

   x       400    40     4

   3     1200   120  12   1332

3 x 444





Check your understanding 
Questions 

 
 

Choose a method to find: 

   50 × 70 =  

   879 × 3 =  

   71 × 16 =  

   54 × 23 =  

   2307 × 4 =  

 

 

A crate contains 27 boxes of oranges. There are 24 oranges in a box. 

A supermarket orders 3 crates of oranges. How many oranges is this in total? 

 

 

 

How many hours are there altogether in November and December? 

 

 

 

 

Answers on next page 

 
 
 
 
 
 
 
 
 
 

  



Check your understanding 
Answers 

 

Choose a method to find: 

   50 × 70 = 3500    (Use times tables fact). 

   879 × 3 = 2637   (Short multiplication or grid). 

   71 × 16 = 1136   (Grid method). 

   54 × 23 = 1242   (Grid method). 

   2307 × 4 = 9228  (Short multiplication or a mental method: ‘double and double again’). 

 

 

A crate contains 27 boxes of oranges. There are 24 oranges in a box. 

A supermarket orders 3 crates of oranges. How many oranges is this in total? 

1944 oranges in total.  Note that this is a 2-step problem. Either solve by 27 x 24 x 3 or 

multiply 27 or 24 by 3 first. 

 

 

How many hours are there altogether in November and December? 

1464 hours altogether. (61 x 24).   (November has 30 days, December 31). 

 
 
 




